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Note: Question paper is divided into three sections. Attempt question of all three section
as per direction. Distribution of Marks is given in each section.

[K.M & "/* Section - 'A"

viry?Rrjh; 1"u ivYr "kink e

Very short type question (in few words)

g1 fa=ifed ueal § 9 fosl ©: Ul Bl 8 DIy — 6x2=12

Attempt any six question from the following questions :

() USSR IIART & T BRI & ?

What is the reason of the origin of monopoly ?
(i) ol §< fig o Bar 2 ?

What is shutdown point ?
(i) Hea FIRer § 999 @ o 1 YA § °?

What is the role of the element of Time Play in the determination of value ?
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(iv)

v)

(vi)

(vii)

(Vi)

(ix)

)

2

IR BT gRATRT IR |
Define Oligopoly.

I gfoafirar @ g ?

What is Potential competition ?
T o fafy @ 7 ?

What is the method of cost plus pricing ?
JIMIGR FT 8 ?

What is Duopoly ?

qd Fgcd R B ?

What is Price Leadership ?
A Bl IR BT |
Define Profit.

fofore ass ar ® ?

What is Philips curve ?

[k.M & "c* Section - 'B'

y2Rrjh; 1"u 1200 "kink e

Short answer question (In 200 words)

u2 feifhd gedl § 9 fhgl arR ugHl Bl g DI | 4x5=20
Attempt any four question from the following questions :
() o o™ T IEThT o H R W HIFTY |
Distinguish between Economic Profit an Accounting Profit.
(i) A qof gferafrar &7 e @t &va € 2
Why do we study perfect competition ?
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(iii)

(iv)

v)

(Vi)

(vii)

3

golaral JefegaRer # Uiy S dret faff= R & aroiR &9 9 8 ?
What are the different types of markets found in a capitalized economy ?
YR <eh I T fIRIYarg qarsy |

Describe the essential characteristics of business cycle.

e UHR UH BH 1S o™ FHA 8 2 AASEY |

Why a firm earn minimum profit ? Explain.

I TAT 8 Aol W AUBT RIT AT § 2

What do you mean by individual and group equilibrium ?
He YUl UHIEBR I 39 I AHASK & 2

What do you understand by discriminating Monopoly ?

[k.M & "I* Section - 'C’

nh?2k mRrjh; 1"u

Long answer/Essay type question.

f=ifed ueal & 9 fh=l IR Ul B 8 DI — Ax12=48

Attempt any four question from the following questions :

(i)

(if)

gul 45 fdg # we Busil Sl g1 81 R 8, B9 I =lel X@dl © 1 b
§C BT B P
In shut down point why does a company suffering losses decide to operate

and not to shut down ?

Aed JaigA™ B R 59 BRBI BT &9 H AT TSl ©§, SAd]

JMATIATHS YRIETIT BT |
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(iii)

(iv)

v)

(Vi)

(Vi)

(4)

Examine critically the various factors that are to be considered while making
a Price-forecast.

HH YIS Hed Ud $o URMEG oI A MY R T8 § 7 Hufal =Y
IRl & oIy Sd RS Hed Bl UAT HH YdeIdh oI bl a1 aeiid]
adl g ?

What do you mean by low penetration price and high initial price ? Why is

a low penetration price preferred to a high initial price for a new product by
acompany ?

I&] HIe HIAd FER @7 =T Aifcrl &1 arn sifve 2 g+ 9
fhADT T FASS FHSII & 7

Explain the alternative policies of product line pricing ? Which of them do

you think the best ?

A D1 AEYTeh Rigid Icara ulehdr § A1l &1 98 IrTard g4l @ fob
a8 1 3R SIREAT 31R AMRFAde BT e Fxar 2| 39 B B
AR HITTY ?

"“The contribution of entrepreneur in the process of production at modern

theory of profit that profit is a payment at uncertainty bearing.” Discuss

this statement ?

" IOTH AT RSP b TN & A1 UFATehaT vl & ol Afgawer # ua
T UgRT & 211 T BAT DI FHIET DIFY |

"If the multiplier and acceleratory interact there is an inherent cyclical

tendency in the economy" Comment on this statement.

T o 1 AT AAET Y[l A 31D BT 81 T Whifd 87 | 39 HAT Dl
R BT 3R GGT ThIfT II~ DR dlel BRI BT [ITeIyoT BHIfAY |

“Inflation is an excess of demand of anything over the supply of everything."

Discuss this statement and analyse the factor that result in inflation.
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